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127|173]119|174(]135]|167|1 139|165|143|165||HJ |UDE|Total|Kampe|Plac
Svendborg jagtf. 8 6| 14 12 3
Veflinge/Vigerslev 4 0 4 12| 7
Strandager/Skeby 1 4 6] 10 12 5
Stige jagtf. 10| 10 20 12| 2
VFK 1 4 0 4 12| 6
Horne jagtf. 2 8 3] 11 12 4
1411165|136|163(|146]|169(131{173]|135(167|138]|170|(1441168|136(172||144|164[139]|169
Strandager/Skeby 5 2 2 2 2 2 9| 12| 21 12| 1
Total duer Gennemsnit
Svendborg jagtf. 1586 132,2
Veflinge/Vigerslev 1502 125,2
Strandager/Skeby 1 1627 135,583333
Stige jagtf. 1661 138,4
VFK 1 1551 129,25
Horne jagtf. 1613 134,4
Strandager/Skeby 5 1673 139,4
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